2019¢F "RIEH" BISE (11)

ROUND: 2 TABLE: 2 DATE: 5-12-2019
ARIEA VS 2ERTRPA
H = Al =
= ERRBA BB =
1t - #BEEAR R BN 3t : BB 7R« SRR
g : PRIS A F2E B : ERER 7o BER
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
11 Wow W 4H -1 50 W |3NT| +1 | -430 10
12 [E2pd W 2H +2 | -170 w 4H = -420 6
13 | WE | E |INT| = -90 E |[3NT| -3 | 300
14 | Wk | E |INT| 1 50 E |[3NT| -3 | 150
15 | it | S |3NT| +1 | 630 | W [4HX| -3 | 500 4
16 it W 5D -1 100 W [(3NT| -3 300 5
17 o S [2NT| +2 180 W | AINT| -3 150 1
18 [E2pd W |INT| +1 | -120 E |AINT| +1 | -120
19 it S 2C = 90 S [3NT| = 400 7
20 pE=] E 2S +1 | -140 w 4S -1 100 6
DATUM&it A  |21.00(30.00
i ERRBA g
MEEA/MFIE 0.0 | BUZK/EKEE 0.0 &it |[21.00|30.00
MRESBHER 0.0 | BVNUZEEE 0.0 V.P. 6.86 [13.14




